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In a row of eight boys Gaurav, Ravi, Rakesh, Ramesh,
Deepak, Suresh, Tarun and Sandeep are standing in a row
facing towards south direction, but not necessarily in same
order. Ravi is fourth to the right of Ramesh. Rakesh is
third to the left of Deepak who is not at any end of the row.
Suresh is not to the right of Ramesh who is the sixth from
west. Tarun is standing at middle between Ravi and
Ramesh. Sandeep is not immediate neighbour of Tarun and
Ramesh.
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In a row of eight boys Gaurav, Ravi, Rakesh, Ramesh,
Deepak, Suresh, Tarun and Sandeep are standing in a row
facing towards south direction, but not necessarily in same
order. Ravi is fourth to the right of Ramesh. Rakesh is
third to the left of Deepak who is not at any end of the row.
Suresh is not to the right of Ramesh who is the sixth from
west. Tarun is standing at middle between Ravi and
Ramesh. Sandeep is not immediate neighbour of Tarun and
Ramesh.

How many persons are standing between Gaurav and
Suresh?

01. One

02. Two

03. Three

04. Four

05. None of these



In a row of eight boys Gaurav, Ravi, Rakesh, Ramesh,
Deepak, Suresh, Tarun and Sandeep are standing in a row
facing towards south direction, but not necessarily in same
order. Ravi is fourth to the right of Ramesh. Rakesh is
third to the left of Deepak who is not at any end of the row.
Suresh is not to the right of Ramesh who is the sixth from
west. Tarun is standing at middle between Ravi and
Ramesh. Sandeep is not immediate neighbour of Tarun and
Ramesh.

Who is standing at the right end?

01. Gaurayv

02. Sandeep

03. Rakesh

04. Suresh

05. None of these



In a row of eight boys Gaurav, Ravi, Rakesh, Ramesh,
Deepak, Suresh, Tarun and Sandeep are standing in a row
facing towards south direction, but not necessarily in same
order. Ravi is fourth to the right of Ramesh. Rakesh is
third to the left of Deepak who is not at any end of the row.
Suresh is not to the right of Ramesh who is the sixth from
west. Tarun is standing at middle between Ravi and
Ramesh. Sandeep is not immediate neighbour of Tarun and
Ramesh.

Who is immediate to the left of Suresh?

01. Rakesh

02. Ramesh

03. Deepak

04. Gaurav

05. None of these



In a row of eight boys Gaurav, Ravi, Rakesh, Ramesh,
Deepak, Suresh, Tarun and Sandeep are standing in a row
facing towards south direction, but not necessarily in same
order. Ravi is fourth to the right of Ramesh. Rakesh is
third to the left of Deepak who is not at any end of the row.
Suresh is not to the right of Ramesh who is the sixth from
west. Tarun is standing at middle between Ravi and
Ramesh. Sandeep is not immediate neighbour of Tarun and
Ramesh.

Who is standing at the left end?

01. Sandeep

02. Suresh

03. Rakesh

04. Ravi

05. None of these



In a row of eight boys Gaurav, Ravi, Rakesh, Ramesh,
Deepak, Suresh, Tarun and Sandeep are standing in a row
facing towards south direction, but not necessarily in same
order. Ravi is fourth to the right of Ramesh. Rakesh is
third to the left of Deepak who is not at any end of the row.
Suresh is not to the right of Ramesh who is the sixth from
west. Tarun is standing at middle between Ravi and
Ramesh. Sandeep is not immediate neighbour of Tarun and
Ramesh.

Who is sitting second to the left of Tarun?

01. Sandeep

02. Suresh

03. Rakesh

04. Ravi

05. None of these



Ten people X, A, Z,C,D, N, M, Y, F and H are sitting
around in a circular table facing at the centre but not
GEB] necessarily in the same order. Z is fourth to the right of A
and third to the left of Y. C is not an immediate neighbour
of A and Z. D is sitting fourth to the right of Z but not
immediately to the left of A. H is not an immediate
neighbour of Z and Y. N is sitting opposite to H. X is not an
immediate neighbour of Z. M is sitting third to the right of
C.
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Ten people X, A, Z,C,D, N, M, Y, F and H are sitting
around in a circular table facing at the centre but not
necessarily in the same order. Z is fourth to the right of A
and third to the left of Y. C is not an immediate neighbour
of A and Z. D is sitting fourth to the right of Z but not
immediately to the left of A. H is not an immediate
neighbour of Z and Y. N is sitting opposite to H. X is not an
immediate neighbour of Z. M is sitting third to the right of
C.
What is the position of M with respect to D?
01. Second to the right

02. Third to the right

03. Immediate left

04. Third to the left

05. None of these



Ten people X, A, Z,C,D, N, M, Y, F and H are sitting
around in a circular table facing at the centre but not
necessarily in the same order. Z is fourth to the right of A
and third to the left of Y. C is not an immediate neighbour
of A and Z. D is sitting fourth to the right of Z but not
immediately to the left of A. H is not an immediate
neighbour of Z and Y. N is sitting opposite to H. X is not an
immediate neighbour of Z. M is sitting third to the right of
C.
Who is in front of N?
01. C

02. H

03.D

04. X

05. M



Ten people X, A, Z,C,D, N, M, Y, F and H are sitting
around in a circular table facing at the centre but not
necessarily in the same order. Z is fourth to the right of A
and third to the left of Y. C is not an immediate neighbour
of A and Z. D is sitting fourth to the right of Z but not
immediately to the left of A. H is not an immediate
neighbour of Z and Y. N is sitting opposite to H. X is not an
immediate neighbour of Z. M is sitting third to the right of
C.
Who is sitting between Z and C?
01.D

02. M

03. F

04. H

05. None of these



Ten people X, A, Z,C,D, N, M, Y, F and H are sitting
around in a circular table facing at the centre but not
necessarily in the same order. Z is fourth to the right of A
and third to the left of Y. C is not an immediate neighbour
of A and Z. D is sitting fourth to the right of Z but not
immediately to the left of A. H is not an immediate
neighbour of Z and Y. N is sitting opposite to H. X is not an
immediate neighbour of Z. M is sitting third to the right of
C.
Who is sitting third to the left of C?
01. X

02. A

03.D

04. Cannot be determined

05. None of these



Ten people X, A, Z,C,D, N, M, Y, F and H are sitting
around in a circular table facing at the centre but not
necessarily in the same order. Z is fourth to the right of A
and third to the left of Y. C is not an immediate neighbour
of A and Z. D is sitting fourth to the right of Z but not
immediately to the left of A. H is not an immediate
neighbour of Z and Y. N is sitting opposite to H. X is not an
immediate neighbour of Z. M is sitting third to the right of
C.
What is the position of N with respect to X?
01. Third to the right

02. Third to the left

03. Immediate left

04. Immediate right

05. None of these



A building has eight floors numbered 1 to 8 in such a way
that ground floor is numbered 1st, first floor is numbered
2nd and so on. There are eight people A, B, C, D, E, F, G
and H are living in a building. Only one person lives in each
floor but not necessarily in same order. D lives on 3rd floor
and is immediately below A. B and E are not on 2nd and Sth
floors. There are only three people between A and G. C are
not on odd number’s floors. F lives on 6th floor. B live just
above F. ‘ ‘
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A building has eight floors numbered 1 to 8 in such a way
that ground floor is numbered 1st, first floor is numbered
2nd and so on. There are eight people A, B, C, D, E, F, G
and H are living in a building. Only one person lives in each
floor but not necessarily in same order. D lives on 3rd floor
and is immediately below A. B and E are not on 2nd and Sth
floors. There are only three people between A and G. C are
not on odd number’s floors. F lives on 6th floor. B live just
above F.

Who lives on 1st floor?

01.D

02. G

03. E

04. A

05. None of these



A building has eight floors numbered 1 to 8 in such a way
that ground floor is numbered 1st, first floor is numbered
2nd and so on. There are eight people A, B, C, D, E, F, G
and H are living in a building. Only one person lives in each
floor but not necessarily in same order. D lives on 3rd floor
and is immediately below A. B and E are not on 2nd and Sth
floors. There are only three people between A and G. C are
not on odd number’s floors. F lives on 6th floor. B live just
above F.

How many people are living in between F and C’s floors?
01. Three

02. Four

03. Five

04. Two

05. None of these



A building has eight floors numbered 1 to 8 in such a way
that ground floor is numbered 1st, first floor is numbered
2nd and so on. There are eight people A, B, C, D, E, F, G
and H are living in a building. Only one person lives in each
floor but not necessarily in same order. D lives on 3rd floor
and is immediately below A. B and E are not on 2nd and Sth
floors. There are only three people between A and G. C are
not on odd number’s floors. F lives on 6th floor. B live just
above F.

Who lives immediately below G’s floor?

01. F

02. D

03.C

04. B

05. None of these



A building has eight floors numbered 1 to 8 in such a way
that ground floor is numbered 1st, first floor is numbered
2nd and so on. There are eight people A, B, C, D, E, F, G
and H are living in a building. Only one person lives in each
floor but not necessarily in same order. D lives on 3rd floor
and is immediately below A. B and E are not on 2nd and Sth
floors. There are only three people between A and G. C are
not on odd number’s floors. F lives on 6th floor. B live just
above F.

Who lives on 4th floor?

01. A

02. B

03.C

04. D

05. None of these



A building has eight floors numbered 1 to 8 in such a way
that ground floor is numbered 1st, first floor is numbered
2nd and so on. There are eight people A, B, C, D, E, F, G
and H are living in a building. Only one person lives in each
floor but not necessarily in same order. D lives on 3rd floor
and is immediately below A. B and E are not on 2nd and Sth
floors. There are only three people between A and G. C are
not on odd number’s floors. F lives on 6th floor. B live just
above F.

Four of the following five alike in a certain way and so form
a group. Which one of the following does not belong to that
group?

01. CAG

02. GFA

03. ACF

04. BDH

05. FCG



In a certain coding language

"How Many Lecture" is written as, LLe, Me, He.
"Every Lecture Is Useful" is written as, Le, Ue, Ie, Ee.
"Many Study Daily" is written as, Me, De, Se.
"Study Useful Things" is written as, Ue, Te, Se.
"Daily Five Lecture" is written as, De, Le, Fe.



In a certain coding language

"How Many Lecture" is written as, LLe, Me, He.
"Every Lecture Is Useful" is written as, Le, Ue, Ie, Ee.
"Many Study Daily" is written as, Me, De, Se.

"Study Useful Things" is written as, Ue, Te, Se.
"Daily Five Lecture" is written as, De, Le, Fe.

What is code of "Useful" ?
01. Le

02. He

03. Ue

04. Me

05. Ie



In a certain coding language

"How Many Lecture" is written as, LLe, Me, He.
"Every Lecture Is Useful" is written as, Le, Ue, Ie, Ee.
"Many Study Daily" is written as, Me, De, Se.

"Study Useful Things" is written as, Ue, Te, Se.
"Daily Five Lecture" is written as, De, Le, Fe.

What is code of '"Study Daily"?
01. De, Se
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03. Se, Ke

04. Ie, De

05. None of these



In a certain coding language

"How Many Lecture" is written as, LLe, Me, He.
"Every Lecture Is Useful" is written as, Le, Ue, Ie, Ee.
"Many Study Daily" is written as, Me, De, Se.

"Study Useful Things" is written as, Ue, Te, Se.
"Daily Five Lecture" is written as, De, Le, Fe.

What is code of "Every"?
01. Ie

02. Me

03. He

04. Ke

05. Pe



In a certain coding language

"How Many Lecture" is written as, LLe, Me, He.
"Every Lecture Is Useful" is written as, Le, Ue, Ie, Ee.
"Many Study Daily" is written as, Me, De, Se.

"Study Useful Things" is written as, Ue, Te, Se.
"Daily Five Lecture" is written as, De, Le, Fe.

What is code of "Is"?
01. Ee

02. Ie

03. He

04. Me

05. Either 1 or 2



In a certain coding language

"How Many Lecture" is written as, LLe, Me, He.
"Every Lecture Is Useful" is written as, Le, Ue, Ie, Ee.
"Many Study Daily" is written as, Me, De, Se.

"Study Useful Things" is written as, Ue, Te, Se.
"Daily Five Lecture" is written as, De, Le, Fe.

What is code of '""Boys Study''?
01. See, Bee

02. Se, He

03. Be, Ee

04. He, Ke

05. Be, Se



Statements:

All bags are pocket.

No pocket is black.

All blacks are covers.
Conclusions:

I. All bags are covers

I1. Some covers are pocket.

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



Statements:

Some C are R.

Some R are F.

All F are B

Conclusions:

I. Some F are R.

I1. All C being B is a possibility

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



Statements:

Some flowers are roses.

No rose is pink.

All pink are leaves

Conclusions:

I. Some flowers are definitely not pink.
I1. Some leaves are definitely not roses.

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



Statements:

All C are S.

All F are C.

Some S are P.

Conclusions:

I. All F being P is a possibility.
II. AIl F are not S.

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



Statements:

Some flowers are roses.

No rose is pink.

All pink are leaves.
Conclusions:

I. Some flowers are not leaves.
II. No leave is a red.

01. If only conclusion I follows.

02. If only conclusion II follows.

03. If either conclusion I or II follows.
04. If neither conclusion I nor II follows.
05. If both conclusions I and II follow.



If 1 is subtracted from each odd number and 2 is
added to each even in the number 9434527, then how

many digits will appear more than twice in the new
number thus formed?

Tt TEAT 9434527 W Uedeh oo G 4 & 1 wer faan
SITU 9T Tedieh OF ST U 2 9ig fan A, 91 39 TR
Y TS T | feRa 3ieh S | aTfreh SATUA?

01. HQOPRCF
02. HQLRRCF
03. HQORRCF
04. HQORRCE
05. None of these
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